Foundations of Algebra Day 6: Multiplying Polynomials Notes
Multiplying Polynomials: Applications Using Polynomials MM [

a. Write an expression that represents the area of this rectangle. q b A 7x+10
ar<a of @mmd = LXw 4+

= (1x+10)4e+d) L M‘kf/ﬂ -4“8
o . %D M%XL*%UHM

b. Write an expression that represents the volume of this rectangular prism. (V = (lwh) TW 5{7{)
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c.  You are designing a rectangular flower bed that you will border using brick pavers. TLe'width of the board
around the bed will be the same on every side, as shown. Write a polynomial ) X+l xft
that represents the total area of the flower bed and border.
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d. Write the equivalent expression of: 6(2a + b) + 3(a + b) — 5(2a + b)
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e. What is the product of 2y(y? + 6y — 10)?
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f.  For the expression ax? + bx + ¢, what is the value of “a” when you multiply (x — 5)(x — 1)?
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g. Work backwards: Which expression is equivalent to 2xy — 6x + 8y — 24?
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Answer: 2xy — 6x + 8y — 24

h. Which of the following is equivalent t6 x* - 16?
(P =2)(x*=-2)
A (2 +2)(x*-2)
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